ID:1210 P- 1

P e SR
F E 5 B O#E 5 B gl Rk
L S FI064£06 H 15 H ETEREL 81 hv (Biir)
ih A PE Hi wmH | Wkoe | A Sy e il e g1

FENS fr JE 10. 00| FH*f 410 4,100 3,024 2,755| 2,160
*x £ ¥ 15. 00| FH%f 700 10,500 1,944 886 648
1E 9 NAHE £ % 4. 00| FH*} 56 224 2,916 2,735 2,592
& | 0.20 k%P 1200 o4 | os|
H % 5 H 3. 00| FH*} 190 5701 1,404 1,116 756
7 A o 1. 00| FH%f 290 290 864 527 270
% Il 5.00( #8%F| il 85| 2,700| 2,366] 540
Al X B 5. 00| FH*} 580 2,900 3,132 1,946 864
o | 2.00| fRF| 04| 208 1,188 1,016] 702
LE L =g 4. 00| FH*} 390 1,560 1,512| 1,252 648
B IR w5 5. 00| fHxt 384 1,920 1,188 888 648
= | 5.00] fA%f| 358 1,790 1,512 1,076] 540

A7 k= |k il 3. 00| FH*} 37 111 1,512
SR = F 1. 00| fHxf 20 20| 3,564| 3,105| 1,836
FEEnsE &I 10. 00| FH%f 148 1,480 4,320 3,392| 3,024
A—T 4 £ IH 10. 00| FAXF 130 1,300 4,590 3,252 1,944
£ A L 10. 00| AHx*} 446 4,460\ 1,944| 1,800 1,296
LA A £ ¥ 10. 00| FAXF 1, 245 12, 450 1, 080 922 540
P=—LF 2 £ B 4. 00| FHx*} 431 1,724 918 677 540
+LxoMn A 4. 00| FH*} 9 36| 3,132 3,060| 3,024
AEHEE w5 0. 10| #Hxf | 3,000 300 167 87 54
ZDXH E ¥ 0. 20| FHx} 1, 500 300 59 56 54

LU B g 0. 20| FHx} 150 30 70
K A Fomk L 10. 00| FH%f 33 330 8,100 7,004| 5,400




ID:1210 p- 2

P e SR
F 2 o4 B O#E 58 H 5l Rk
R3HE AF064E06 H 15 H 5| v (g 27 kv (Blir)
ih A PE Hi wmH | Wkoe | Ak Sy e il e g1

PE Al 5. 00| FHx} 60 300 3,456| 3,348| 3,240
FIU T X B 0. 30| FHx*} 500 150 432 406 346
[N 5 H 15. 50 | FHx%f 525 8,141| 5,508| 4,463| 2,484
/NEPE )R e 10. 00| FH%f 50 500 4,860| 4,126| 3,564
INF T 7 4 UE | 13.00| fHx%F 8 104| 3,726| 3,335 2,862
S % 0. 25| FHxf 798 201 594 511 162




